.
LoV gy af, 2 -1 9] g

1- V3i _
v = L=V o ol 2 2 Bt 20— 1 - v
JHBR 2x -1 =-V3i
o] 18] FHE Al FotH 4x? —4x+1=-3
Z 4x%2—4x+4=0
oA, ¥ -x4+1=0




a4 (1-xi)(1-i)7F 2357t H=5 A x 9] gh= Agstoiet
=1

>
> Mt

S5 . x=1

(1-xi)(1-i)=(1-x)+ (-1 -x)i
ool ALRI 0= 1-x=0

x=1




7z=1S NS BaF g, noltotd 1+ =2 L ™, 71 20
o] Fr2? (&, 71, 2o = A7 71, 20 & A EASol)

On @ 2 ® 3 @ 4

® 5

z1=a-+bi,zn=c+di
(@ b, c,d =AF)EEOH

Zi=a-bi,z=c—-di 9|BE2

z1-71 =1 94
2+ =1.--G
2272 = 1 9|A]

c+d*=1---©
z+z=2%NMa+c+(b+d)i=2
2457) HE 28 2] gl
at+c=2,b+d=0

8-02 s

a?-2+b*-d*>=0

(at+c)la-c)+ (b+d)(b-d)=0

O™ b+ d = 0°1BE (a+c)la—c)=0

ca=-cEEa=c

z1°22=1




4.

F&5a, by ¢, doll HSEO] (V2 + i)t + a(V2 + 1) + b(V2 +i)?

c(VZ+i)+d=0& WEFh ol W, a—b-c-d] 27 (

i?=-1)

@-r
S5

@ 3 @1 @ -1

+
‘El—-y

(V2 + i)t = -7+ 42, (V2+i)% = -V2+5i,
(V2+i)2 =1+2+2i

(=7 4 4V2i) + a(- V2 + 5i)

+b(1+2V2i) +c(V2+i)+d=0

(=7= V2a+b+ V2c +d)

+(4V2 +5a+2V2b +¢)i =0
 (-T+b+d) +(c-a)V2=0,
(5a+c)+ (4+20)V2=0

a, b, ¢, d = FRFOIBE -T+b+d=0 :
c—a=0,5a+c=0,4+2b=0
“a=0,b=-2,¢=0,d=9
“a-b-c—d=-T7




Nt r (32 o g aperer

3 (1+i>98+(1—i>98
o\l 1+i




